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STU LINK * . . . s @
( Multiplication/Division Puzzles

Solve the multiplication/division puzzles mentally. Fill in the blank boxes.

Examples:
(% 300 2,000 () g0 50
2 600 %.000 4 320 200
3 900 | 6,000 | 8 640 400
1. 2.
( *, / 70 400 ( *, / 5 7
8 80
9 . 600 J
3 4.
(" *, [ 9 4 [ *, / 600
50 7 3,500
7,000 ) 2,400
5 6.
( *, / 80 [ *, / 4,000
30 2,700 36,000
56,000 ) 20 10,000
Make up and solve some puzzles of your own.
7. ' 8.
(- *, / 4 %,/
/ J
L Practice J
9. . .. =056+ 092 10. = 2.86 — 1.73
11, 1911 -1094=__ 12, =052 +0.25

139



SL 4-5-1 Option B: Multiplication & Division Name

Use a separate sheet of paper if you need more work space for any of these problems. No Calculators.

Solwe ihe maltslicatbarvdivision puzties manlally. Fill i the Hank boxas.

Examplos:

ot a0 | :"' el B

g SO0 | 5000 | 1
a | qo0 | 6000 | 12

-'I' l'” - ‘ - o e 2 Eh e : -
", ! 60 0D w ! 0.5 1.5

y b ‘ A

B | 7 3,500

B ¢ G
i n, B i w, ¥ 4 200

&) 2, T ; 58 D0

0.25 A0 2C0

P SR I ] PR e LR <.\-,:-m::r—.neuv:u-z:r)-.w-e.ve.\,'w-i'" Assntiszmaast

Make up and solve a number problem of your own.

a B R T S ST R TE TR i g L O R R e N e b

m " T L AT S A AN LA A P S A T T b A R R e s e [
" W, ! 1/3 2/5 | w4

300
75

Practice: Find the missing values.

8. m-056=092 9. P+1.73=2.86 10. 19.11-n=8.17 11. Q-0.52=0.25



Date

(Extended Mulﬁplication Facts

R ."'Séli\_ie mentally.

. BxT= _ 2. 9%3=
':.'6*70m 9 % 30 =
L B0KT = | | 90 * 3 =
- B0x70= 90 * 30 =
_'500*7;: 900 * 3 =
60 * 700 = 80 * 300 =
3. 48 = 4. 5x =15
 4x80= 30 * = 150
40 % 8 = 30 * = 1,500
40 % 80 = | * 50 = 150
400 %8 = | * 500 = 1,500 Ba
40 * 800 = 30 x = 15,000
5. 54 is times as many as 9.
540is times as many as 90.
5,400 is times as many as 90.
540 is 60 times as many as
5,400 is 6 times as many as

54,000 is 6 times as many as

l Practice | |

6. _=63+87 7. 736+ 214 =

WH-MeIDOWNOIS WBUM G TuBuAdon

8. . =974~ 548 9. ____=46-28
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SL 4-5-2 Option B:

Solve Mentally.

Extended Multiplication Facts
Use a separate sheet of paper if you need more work space for any of these problems. No Calculators.

Name

1. 2. 3.
6:-7= 9-.3= 4-8=
6-70= 8-30= 5.80 =
607 = 70-3= 60 -8 =
60-70= 60-30= 70 - 80 =
6007 = 500 - 3 = 800 - 8 =
60700 = 40300 = 80 - 800 =
4. 4.
6 ( ) =42 54 is times as many as 9.
60 ( ) =240 72001s times as many as 90.
60 ) = 4800 360 is times as many as 90.
(_____)60=300,000 27,000 is times as many as 90.
{(______)60=18,000 630,000 is times as many as 200.
60 ( } = 5400

5. Tamara and Eli were asked to multiply 12 and 32 mentally.
Tamara used the method:  12(32) = 12(30 + 2) = 12(30) + 12(2) = 360+ 24 = 384 t0 find the answer.
Efi used the method: {12){32) = {10+ 2){30 + 2) = 10(30) + 2{2) =300 + 4 = 304 to find the answer.
Together they are working to figure out who is correct and who is incorrect.
a. Who do you think is correct?

b. Explain to the person who is incorrect how to fix their work.

6. Aaron multiplied 800{0.53) by thinking of the problem like this: 800(—;—) + 800(-1%) =400 + 24 = 424 . Explain why

Aaron is or is not correct.



Numbe' mode!

T 694 +,;2'" + 386 ' _______

k :.9.' 756+ 81 ..|_ 201

Number model _ ,' o

Practice
60 * 80 = :

13, _50 *[900’ : o

a1 +648+366-%;;;_

845 + 702 s,

'- Number model

' s _132 + 692 + 303 = |

Number model

1o 575 + 832 L

: Number mode|

| '1.14-'.-‘1

40 * soo -3-- |

P




SL 4-5-3 Option B: Estimating Sums Name

Use a separate sheet of paper if you need more work space for any of these problems. No Calculators.

For all problems, write a number model to estimate the sum. ShE
+ |f the estimate is greater than or equal to 1,500, find the exact sum. =y

+ |f the estimate is less than 1,500, do not solve the problem.

1, 867 +734=___ 2, 374 4+ 962 + 488 =
Number modsl: Number modsl:

3. 382+ 744 = 4, 581 + 648 + 366 =
Number model: Number model:

5. A library has 21,895 hooks on the shelves. 8,752 of the books are checked out on loan. About how many books does
the library own? Write a number model

6. Sam has his five favorite songs in an ipod playlist. The songs run 155 seconds, 189 seconds, 177 seconds 253 seconds
and 223 seconds in length,

a. About how many seconds will it take to complete this playlist? Write a number model.

b. About how many minutes is this?

7. There are 180 school days in a year. Since starting kindergarten, about how many days have you been in school?
Describe how you found your answer.

8. Use the each of the digits 1, 2, 3, 4, 5, 6, 7, 8, 9 exactly once to create three, 3-digit numbers so that:
a. The sum of the three numbers is the largest possible sum. Find the sum.
b. The sum of the three numbers is the smallest possible sum. Find the sum.

¢. Explain how you know your answer to a is the largest possible sum.

9. Estimate the number of days in one year, eight months and three weeks.

Practice:

10. 30-80= 11. 40-8000 = 12. 60-800=



TUDY LINK §

. m /r!‘

10000008 i

1ooooos

_,'(a mousehke rodent) has an average of 9 babies per lltter. e
ersina ¢ son about how many bables are produced'? e

J0s .Q 1,0000003 e

100003 - _,_;f1_oc;ooos_- | :_n;,'o_bo;do,ds [

lr‘ext hour‘ the peopls m France W|II save 12 000 trees by recycling
‘bout how many trees wnl they save 1n two days'?

Nurn er"model

o

TToos | 71,0005 | 100005 | 100,000s [1,000000s]

; ‘_'_5'. "How many dlgitS can the product of two 2 drgrt numbers have'? i
' lee examples to support your answer - ;

- IHMeIDONYNORD U

Toass0= e




SL 4-5-4 Option B: Estimating Products Name

Use a separate sheet of paper if you need more work space for any of these problems. No Calculators.

Estimate whether the answer will be in the tens, hundreds, thousands, SR
or more. Write a number model to show how you estimated. Then circle £
the box that shows your estimate. =

1. A koala sleeps an average of 22 hours each day. About how many hours
does a koala sleep in a decade?

Number model:

10s 10038 1,000s 10,000s | 100,000s |1,000,000s

2. A prairie vole (a mouse like rodent) has an average of 9 bables per liter and can produce 17 liters in a
season. If there are 23 liter bearing voles in a colony, how many babies will be produced in a season?

Number model:

108 100s 1,000s 10,000s | 100,000s |1,000,0008

3. In the next hour, the people in France will save 12,000 trees by recycling
paper. About how many trees will they save in two days?

Number model:

10s 100s 1,000s 10,0008 | 100,000s |1,000,000s

4. The average songis 193 seconds long. Alan’s ipod is loaded with 173 songs.
a. About how many seconds can Alan’s ipod play without repeating a song?
h. About how many minutes is this?

¢. Describe how you made your estimates to parts o and b.

5. a. How many digits can the product of two 2-digit numbers have?
b. How many digits can the product of two 3-digit numbers have?
¢. How many digits can the product of two 4-digit numbers have?

d. How many digits can the product of two 10-digit numbers have? Explain how you know.
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Name Date

(Multiplication

Multiply using the partial-product method. Show your work in the grid below.

1. b6 %7 = 2. 8x275 = 3. =

4. Maya goes to school for 7 hours each day. [f she does not miss any of the
181 school days, how many hours will Maya spend in school this year?

a. Estimate whether the answer will be in the tens, hundreds, thousands, or more. Write
a number model to show how you estimated. Circle the box that shows your estimate.

Number mode!:

10s. 100s 1,000s | 10,000s | 100,000s |1,000,000s

b. Exact answer: hours

5. The average eve blinks once every 5 seconds. Is that more than or less than a hundred
thousand times per day? Explain your answer.

I Practice J

6. = 495 + 7,389 7. 5,638 + 5,798 =

8. 3,007 — 1,749 = L = 8,561 — 3,872
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SL 4-5-5 Option B: Multiplication Name

Use a separate sheet of paper if you need more work space for any of these problems. No Calculators.

Multiply using the partial-product method. Shaw your work In the grid below.

4. B8 x 7= _ 2 8B8x2iE= 3 —e.e =

4. Maya goes to school for 7 hours each day. If she does not miss any of the
181 school days, how many hours wlil Maya spend In school thls year?

a. Estimate whether the answer will be in the tens, hundreds, thousands, or more, Write
a number maodel to show how you estimated. Circle the box that shows your estimate.

Number model:

10s 100s | 1,000s | 10,000s | 100,000s |1,000,000s]

b. Exactanswer, —____ hours

6. The average eye blinks once every 5 seconds. Is that more than or less than a hundred
thousand times per day? Explalh your answer.

6. One word in each list does not fit with the others. Cross this word off the list and give the list a title.

Scalene Tenths Millimeters Tenths
Right Fractions Centimeters Thirds
Isosceles Decimals Liters Hundredths
Equilateral Hundredths Kilometers Thousandths
Quadrilateral Thousands Decimeters Ones
7. Write a sentence that uses both of the words in each part correctly,
a. product, estimate b. trapezoid, quadrilateral
c. metric, length d. solve, open-sentence
e. product, quotient
Practice.
8. 3,007 - 1749 = 9. = 8561 - 3872



I-products élgbrit_hﬁt_'fzs_ﬁéw'_yé.izr;i_w'drk;' 53

- 56 + 30= :. __ .

—zeawas

{__Practice’ | -

i
I

t

1. 5,583 — 4,667 =
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SL 4-5-6 Option B: More Multiplication Name

Use a separate sheet of paper if you need more work space for any of these problems. No Calculators

Mutltiply using the pariab-products algonlbm. Show your work.

1, B2+ ¥ = 2. B5# 30 =
3. A2 & B0 = 4, =27 « 18
5. I 1. | B, B0 FE0DZ o
Try This
e e, = 241 2 3 8, s 2= 700 % 490
i
1 ! {

9. Kevin said, “When you multiply a number by ten you just add a zero after the number”. Karen says that
Kevin is incorrect. Give examples that support Karen’s position and explain why she is correct.

10. Complete each statement.

a. Product is to quotient as is to difference.

b. Square is to rectangle as is to parallelogram.

¢. Tens are to hundreds as hundredths are to

d. Cents are to dollars as are to meters.

Practice:

11, =283 + 5,439 12. =9,141-6,372




Date

fl.attice Multiplication

Use the lattice method to find the following products.

1. 546 = __ 2. 8x%067 =
4 6
5
3. 7*836~= 4. 4%329=
S B, 25%81 == ____ 6. 49%852 = ___

7. Use the lattice method and the partial-products
method to find the product. 84*78=_ ...

Capyright © Wright Group/McGraw-Hilt

L Practice J

'%.v-'

8 = 3367+59 g 684+582=__

10, 7144 ~-3767= . 11. .= 101.06 —~ 290.91
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SL 4-5-7 Option B: Lattice Multiplication Name

Use a separate sheet of paper if you need more work space for any of these problems. No Calculators.

Use the latlice mothod to find the following products,

Fo S#4B= s 2, BG7 = .
4 G
,-f. o .'?
’ ,r’{. 6 z‘l 'f
# s
/ i /s
f‘-'
// .f"'- /‘l 3 d
3, T#BI0 = o d, 4 #3202 s
A T 7 T 1 ~
, !
. ¢ ’/ (‘r"f // // S
i / <
s K a 3
/ Vi xa s _;"! /"/
5 2531 = .. 8, 40 % 52 =
E W, 7
4 . 3
/ s Y /-’"
£ g,!/ ’,;/ /’
& :/ 4 4 ;‘f .";
s e ! rd v ’
A VY. / /

7. Forthe problem 32 x 24.

a. Work the problem using the partial problems method.

b. Work the problem with the lattice method.

¢. Use your work in parts a and b to describe how the methods are similar and different.

8. Use the partial products method to explain why (23){41) will have the same answer as (41){23).

9. Lenny worked the problem (28)(17) using the method below. s Lenny correct? Explain why or why not.
(28)(17) = (20 + 8){10 + 7)
= 20{10) + 8(7)

= 200 + 56
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e f"_‘DoubIe 8 Dr\nde the reeult by 4 Wnte the answer in the one—thousands place

_ '7.-:- lnjthe one- bllllons place wrlte the even number greater than 0

B N '-ln the tens place write the odd number that has not been used yet

10. .'.Fmd the sum of all the d|g|ts in the chart $0. far

11, erte 0 in the empty column whose place value is Iess than bl"lOl’lS

12, Wrnte the number in words For example, 17 450 206 could be wrrtten as

T Practice ) I
e 74*5mm _"-1'4.:'___;_;-__;..',_“..7_-396*8

Milllons ThoUsands';_f' i

HETYE 100Th 10Th 1Th

-Fing _9 %8, Heverse the dlgrts :|n the result Dlwde by 3
.';‘*-Wnte'fthe answer in the hundred~thousands place

'g-'that has not been Used yet

'8. _Wr|te the answer to 5 + 5 m the hundred mlllrons place

- Dwnde the result by 5 ‘and wrlte itin the ten blllrons place

-“17 mlllton 450 thousand 206 "

15.

*‘92*18 M6 B6#47=

163
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Name

Date

STUDY LINK

5.9 [Many Names for Powers of 10

Below are different names for powers of 10. Write the names in the appropriate
name-collection boxes. Circle the names that do not fit in any of the boxes.

( 1,000,000 10,000 1,000 h
100 10 10 [100,000s]
10 [10,000s] 10¢ 10 {1,000s]
10° 10 %10 x 10 % 10 one thousand
108 1010 %10 % 10 % 10 10 [10s]
10 * 10 ten 10!
10 [tenths] 10° 1
- ST - A
5.
L Practice J
7. 63%7 = = 495 % 6 9. = 97 % 53
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SL 4-5-9 Option B: Many Names: Powers of 10  Name

Use a separate sheet of paper if you need more work space for any of these problems. No Calculators.

Below ara different names for powers of 10. Write tha names in the appropriate
nama-collection boxes. Circle the nanies that do not fit in any of the boxes.

B

o Ll
( 1,000,000 16,000 1,000 )
1/10 of a milllon 10 10 [1006,0008]
10 [10,0008] 108 10 [1,000s]
10° 10% 10 % 10 % 10 one thousand
10% 1010+ 10+ 10 % 10 10 [10s]
10% 10 107 [1000s] 1000 [tenths)
10 [tenths) 100 (10% + 1000

7. Lecia noticed that 1,000 x 100 = 100,000 is the same as 10°x 10> = 10°. Lecia predicts that 10* x 10° will
equal 10°, Is Lecia’s prediction correct? Explain why or why not.

8. Consider the pattern below. Describe how the pattern can be used to explain why 10° = 1.

10*=10- 10 10 = 1000
10% =10+ 10 =100
10'=10=10

10°=1

Practice:

9. 973x54=
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STUDY LINK
(Rou nding

1. RoUnd the seating capacities in the table below to the nearest thousand.

{ Women’s National Basketball Association
Seating Capacity of Home Courts
Team Seating Capacity R:::I:if 1t ::’;I;e
_ Charlotte Sting 24,042
Cleveland Rockers 20,562
" Detroit Shock 22,076
"New York Liberty 19,763
Phoenix Mercury 19,023
| Sacramento Monarchs 17,317
San Antonio ‘Stars 18,500
} Seattle Storm 17,072 y

2. Look at your rounded numbers. Which stadiums have about the same capacity?

3. Round the population figures in the table below to the nearest million.

(" U.S. Population by Official Census from 1940 to 2000
' % . Rounded to the
3 Year Population Nearest Million
% 1940 132,164,569
2 1960 179,323,175
> 1980 226,542,203
e
§ 2000 281,421,906 )
Source for both tables: The World Almanac and Book of Facts 2004
’; | Practice |

4., 2 =692*86 5. =38%x21 6. 4473 =

169




SL 4-5-10 Option B: Rounding Name

Use a separate sheet of paper if you need more work space for any of these problems. Calculators OK.

i. Round the seating capacities in the table below to the nearest thousand.

(" Women’s National Basketball Association
Seating Capacity of Home Courts
Team seating Capacity Rﬁ é':lféif: :?og(;e
Charlotte Sting 24,042
Cleveland Rockers 20,562
Datroit Shock 20,076
New York Liberty 19,763
Phoenix Mercury 19,023
Sacramento Monarchs 17,317
San Antonio Stars 18,500
Seattle Storm 17,072 )

. How much more seating capacity does the largest court have compared to the smallest court? Show your

work.

. If the combined capacity for all of these courts remained unchanged but all courts were required to have
the exact same capacity, what would be the capacity of each court? Show your work.

_ Half of ali courts in the list above have a capacity above what number? Explain how you got your answer.
. Identify your answetrs in problems 2, 3 and 4 as the Mean, the Median or the Range.
. Rico estimated the seating capacity at the Pepsi Center to be around 18,000 seats. A friend said he was

correct to the nearest thousand.
a. What is the largest capacity possible for the Pepsi Center if Rico’s estimate is correct to the nearest

thousand? Explain your thinking.

b. What is the smallest capacity possible for the Pepsi Center if Rico’s estimate is correct to the nearest
thousand? Explain your thinking.



| 28500,912,000

K Phllipplnes f 27028 .'556 000

| {'_'Spaln

| 36 260 392, ooo'-"- |

- _';: Umted;:States B 73 148 598 000

ich palr | ctrole the country that produced more fruit
Mexrco - Unrted States ".lr'_.éh o
3 f ctBrazi! | Phrttpplnes i Spaln _'ﬁ | |taly

A 4. Wh ch two countnes together produced about as much frurt as Indla?

- Estlmate the sum erte a number model

s 687 + 935

'-s. 2409 + 1 196 + 1 327

. 757. 1, 899 + 35, 201

_:_172..




